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Term (2) — 2021/2022

Teacher: Arwa Abdelmoneim Revision Unit 7 -= G11 Health Sciences

Name one of the vital signs.

CPRis made up of two parts, what are they?

What is the normal respiration rate for a healthy adult?

Which vital sign can be measured by pressing the first and second fingertips on a
person’s arteries and counting for 60 seconds?

When using an AED, you should use adult pads on anyone older than 8 years.
(A) | True
(B) | False

It is safe to use an AED on babies younger than one year old.
(A) | True
(B) | False

What is the normal pulse rate for a healthy adult?
(A) | 12-20 breaths per minute

(B) | 60-100 beats per minute

(C) | 120/80mmHg

(D) | 36.5-37.2°C
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Which of the following statements is true about heart failure?

(A) | Heart failure is caused by an electrical problem

(B) | Heart failure happens when blood flow is stopped because of a build-up of
plaque in the arteries

(C) | Heart failure is the most common cause of cardiac arrest

(D) | Heart failure happens when the muscles of the heart weaken and ventricles
become too weak to pump blood around the body

In CPR, what are two rescuer compressions?

(A) | Two people take turns giving compressions to an individual, changing every
two minutes

(B) | Two people give compressions to the same person at the same time

(C) | Two people give compressions at the same time to different people

(D) | Using two hands to provide CPR

1

11

12.

=

In which of the following cases is CPR not needed?

(A) | The casualty is unresponsive and breathing normally

(B) | The casualty is unresponsive and gasping for air

(C) | The casualty is unresponsive and not breathing normally
(D) | All of the above

When providing compressions to an adult during CPR, push directly down on the
centre of their chest at least

(A) | 10Cm

(B) | 2Cm

(C) | 5Cm

(D) | 15Cm

Where should you place each of your hands when opening the airway of a
casualty?

(A) | Both hands on the soft part of the chin

(B) | Both hands on the solid part of the forehead

(C) | One hand on the forehead and the fingers of the other hand on the soft part
of the chin

(D) | One hand on the forehead and the fingers of the other hand on the solid part
of the chin

How do you check for response in a baby?
(A) | Shake the baby

(B) | Call the baby’s name

(C) | Tap the baby’s shoulder

(D) | Tap the baby’s foot
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Which of the following is an electronic device?

(A) | AED

4

(B) | cPR

(C) | Pocket mask

(D) | Compression

What is the first step to take at the scene of an emergency?

(A) | Check for a response

1

(B) | Open the airway of the casualty

(C) | Leave the scene immediately

(D) | Make sure the scene is safe to enter

What is the sequence of compressions to breaths in adult CPR?

(A) | 30 compressions followed by 2 breaths

1

(B) | 2 compressions followed by 30 breaths

(C) | 15 compressions followed by 5 breaths

(D) | 10 compressions followed by 2 breaths

A person with high blood pressure (higher than 140/90mmHg) is known to have

(A) | cardiac arrest

1

(B) | hypertension

(C) | heart failure

(D) | heart attack

If a baby is unresponsive and not breathing, you need to

(A) | Wait for the baby to wake up

8

(B) | Use an AED

(C) | Putthe baby in the recovery position

(D) | Provide CPR

ich of the following casualties is responsive?

The person blinks when you tap their shoulder

The person moves their arm when you tap their shoulder

The person talks when you tap their shoulder

All of the above
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Answers Key

One of the following:
* Blood pressure

e Temperature

* Pulse

e Respiration

e Compressions

e breaths

12-20 breaths per minute

Pulse rete

A—True

B — False

B — 60-100 beats per minute

D - Heart failure happens when the muscles of the heart weaken and ventricles become too
weak to pump blood around the body

A - Two people take turns giving compressions to an individual, changing every two minutes A -
Two people take turns giving compressions to an individual, changing every two minutes

A - The casualty is unresponsive and breathing normally

C-5cm

D - One hand on the forehead and the fingers of the other hand on the solid part of the chin

D — Tap the baby’s foot

A—-AED

D — Make sure the scene is safe to enter

A — 30 compressions followed by 2 breaths

B — hypertension

D — provide CPR

D — All of the above

Believe in yourself, stay strong, do the impossible
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